
SUBTRACTING Signed Numbers  “-” Sign Rules 
 
 

 
 
 

 

 

"-" sign?

STOP!

Rewrite the 
problem.

The 1st number 
stays the same, 
change the "-" 
sign to a "+" 

sign.

Change the sign 
of the second 
number, then 
follow "+" sign 

rules.

"+" Sign?

Both Negative?
Add / 

Ans- Negative

One Negative /

One Positive?

Subtract / 

Give answer the sign 
of larger number

Examples:  -7   -  -1 , change to -7  +  1 which is -6,     -2  -  5  becomes -2  +  -5 which is -7

Practice 

-2  -  -1 =   

-5  -  -4 =   

-7  -  -1 =   

-1  -  -1 =   

-3  -  -6 =   

-3  -  -2 =   

-4  -  -5 =    

-2  -  1 =   

5  -  7 =   

7  -  -1 =   

-7  -  1 =   

-3  -  6 =   

-3  -  2 =   

-4  -  -5 =    

-2  -  -1 =   

-5  -  -7 =   

-7  -  10 =   

-10  -  -1 =   

3  -  -6 =   

-3  -  -2 =   

-4  -  -4 =   

-2  -  1 =   

5  -  -4 =   
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ANSWERS 

-2  -  -1 =  -1 change to -2 + 1=-1 

-5  -  -4 =  -1 change to -5 + 4 = -1 

-7  -  -1 =  -6  change to -7 + 1 = -6 

-1  -  -1 =  0  change to -1 + 1 = 0 

-3  -  -6 =  3 change to -3 + 6 = 3 

-3  -  -2 =  -1  change to -3 + 2 = -1 

-4  -  -5 =  1  change to -4 + 5 = 1 

-2  -  1 =  -3 change to -2 + -1 = -3 

5  -  7 =  -2  change to 5 + -7 = -2 

7  -  -1 =  8 change to 7 + 1 = 8 

-7  -  1 =  -8  change to -7 + -1 = -8 

 

 

-3  -  6 =  -9 

-3  -  2 =  -5 

-4  -  -5 =  1 

-2  -  -1 =  -1 

-5  -  -7 =  2 

-7  -  10 =  -17 

-10  -  -1 =  -9 

3  -  -6 =  9 

-3  -  -2 =  -1 

-4  -  -4 =  0 

-2  -  1 =  -3 

5  -  -4 =  9 

 


